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ВАРИАНТ 1
Переведите текст письменно на русский язык
ALFALFA
Alfalfa is a deep-rooted, long-lived perennial with wide adaptation. It tolerates some acidity and reaction is neutral or close to neutral. The plant requires good drainage and does best where water is well supplied. Canadian varieties and many American and European ones are winter hardy, and some Canadian varieties are very drought resistant.
Alfalfa is basically limited only by general conditions of soil and climate. Some yields on irrigated land are usually higher than on dry land. Light soils (loam to sandy loam in texture) are best suited for alfalfa. A farmer should avoid shallow soils or those with hard pan layers or alkali conditions. Dryland areas should have sufficient rainfall to allow formation and persistence of flowers, and to enable seed pods to fill and ripen.
A farmer should inoculate the seed. The ideal depth of seeding is one-half to three-quarter of an inch – or slightly deeper on light-textured soils. Spring seeding is preferred. Later seedings have the risk of damage from hot, dry weather or lack of moisture.
Nitrogen is not required. Alfalfa, however, requires ample supplies of potassium, phosphorus, and sulphur. Alfalfa fields are a place for many insect peats. Swathing is not safe in many seed growing areas because of the problems caused by high winds.
I. Подчеркните в каждом предложении глагол – сказуемое и определите видовременную форму и залог. Переведите предложения на русский язык. В разделе (б) обратите внимание на перевод пассивных конструкций.
а). 1. Spring burning helps to control alfalfa diseases.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2. Bees will also pollinate alfalfa.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
б). 1. Alfalfa seed growing has been expanded.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
      2. A farmer uses appropriate controls when damage is first noticed.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
II.  Подчеркните Participle I и Participle II и установите функцию каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
     1. Any required fertilizer should be worked into the soil before seeding.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
     2. The farmers are working in the fields now.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    3. When cultivating be attentive.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    4. Companion crops are often used.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
III. Подчеркните в каждом предложении модальный глагол или его эквивалент. Переведите предложения на русский язык.
       1. A farmer should use appropriate control. 
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________           
       2. Farmers have to follow recommendations for producing seeds.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
       3. You can keep straw breakage to minimum.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
       4. Damage may be reduced.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
IV. Выпишите из текста эквиваленты к словам и словосочетаниям:
       сухая земля ____________________________________________________
        глубина _______________________________________________________
        морозоустойчивый _____________________________________________
        соответствовать ________________________________________________

